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PAPER – II 

LIBRARY AND INFORMATION SCIENCE 

Note :  This paper contains fifty (50) objective type questions, each question carrying two 

(2) marks. Attempt all the questions.  

1. Organised information is known as  

(A) Data  

(B) Facts 

(C) Knowledge  

(D) Wisdom  

(A)  

(B)  

(C)  

(D)

2. Shanan  - weaver model of communication is based on  

(A) Philosophical theory  

(B) Mathematical theory 

(C) Behavioural theory 

(D) Psychological theory 

(A)  

(B)  

(C)  

(D)  

3. The Madras Public Library Act was enacted in the year  

(A) 1962 

(B) 1946 

(C) 1948 

(D) 1947 

(A) 1962 

(B) 1946 

(C) 1948 

(D) 1947 

4. AIM (Association  for  Information Management) is located at  

(A) London  

(B) New York 

(C) Mexico  

(D) Paris  

(A)  

(B)  

(C)  

(D)  

5. In India, the ‘‘National Library week’’ is observed during the month of 
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(A) August  

(B) November 

(C) July 

(D) December 

(A)  

(B)  

(C)  

(D)  

6. NUCSSI (National  Union Catalogue of Scientific Serials in India) is published by  

(A) NASSDOC 

(B) SENDOC 

(C) DESIDOC 

(D) INSDOC (NISCAIR) 

(A)  

(B)  

(C)  

(D)  

7. Handling reference queries with fact finding approach is called 

(A) Ready reference service  

(B) Long range reference service  

(C) Referral service  

(D) Indexing service 

(A)  

(B)  

(C)  

(D)  

8. SDI was developed by  

(A) H.P Luhn  

(B) F.W. Lancaster  

(C) S.R. Ranganathan  

(D) C.A Cutter 

(A) H.P Luhn 

(B) F.W. Lancaster 

(C) S.R. Ranganathan 

(D) C.A Cutter 

9. ‘Rules for dictionary catalogue ’  was formulated by  

(A) S.R. Ranganathan 

(B) J.D. Brown 

(C) S.C. Broad ford  

(D) C.A Cutter 

(A)  

(B)  

(C)  
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(D)  

10. The index of DDC is known as  

(A) Relative index  

(B) Book index 

(C) Comparative index 

(D) Sequential index 

(A)  

(B)  

(C)  

(D)  

11. ‘Clasaurus’ is related with  

(A) PRECIS 

(B) KWIC 

(C) POPSI 

(D) SLIC 

(A) PRECIS 

(B) KWIC 

(C) POPSI 

(D) SLIC 

12. In MARC  – 21 the tag number for edition statement is  

(A) 245 

(B) 250 

(C) 260 

(D) 300 

(A)  

(B)  

(C)  

(D)  

13. ‘Zero base budget’ means  

(A) Budget afresh  

(B) Performance budget 

(C) Line budget 

(D) Programme budget 

(A)  

(B)  

(C)  

(D)  

14. Moslow's theory  is related to  

(A) Leadership 

(B) Motivation 

(C) Scientific management 

(D) Job satisfaction  

(A)  
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(B)  

(C)  

(D)  

15. ISBN consists of  

(A) 10 digits  

(B) 13 digits 

(C) 12 digits 

(D) 14 digits 

(A)  

(B)  

(C)  

(D)  

16. Printer is a/an  

(A) Input device 

(B) Output device 

(C) Storage device 

(D) Processing device 

(A)  

(B)  

(C)  

(D)  

17. Which one of the following is not a library network  

(A) INFLIBNET 

(B) DELNET 

(C) MALIBNET 

(D) NICNET 

(A) INFLIBNET 

(B) DELNET 

(C) MALIBNET 

(D) NICNET 

18. The Indian inputing centre  for INIS is  

(A) DRDO 

(B) BARC 

(C) TIFR 

(D) IARI 

(A)  

(B)  

(C)  

(D)  

19. The term ‘Bibliometrics’ was first coined by  

(A) Allen Kent  

(B) A.J. Lotka 

(C) Allen Pritchard 

(D) S.C Broad ford  
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(A)  

(B)  

(C)  

(D)  

20. ‘Law of parsimony’  refers to  

(A) Overall Performance  

(B) Overall Economy  

(C) Overall Evaluation 

(D) Overall Management 

(A)  

(B)  

(C)  

(D)  

21. ASLIB cranefield project was conducted to evaluate  

(A) Libraries  

(B) Communication system 

(C) Abstracting service  

(D) Indexing systems 

(A)  

(B)  

(C)  

(D)  

22. The central value  of distribution is known as  

(A) Mean  

(B) Mode 

(C) Median 

(D) Deviation 

(A) 

(B) 

(C) 

(D) 

23. Arrange the following according to the year of establishment   

(i) NICNET 

(ii) INDONET 

(iii) INFLIBNET 

(iv) MALIBNET 

Codes 

(A) (i) (iii) (iv) (ii)  

(B) (ii) (i) (iv) (iii) 

(C) (iv) (ii) (i) (iii) 

(D) (iii) (ii) (i) (iv) 

(i)  
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(ii)  

(iii)  

(iv)

 : 

(A) (i) (iii) (iv) (ii)  

(B) (ii) (i) (iv) (iii) 

(C) (iv) (ii) (i) (iii) 

(D) (iii) (ii) (i) (iv) 

24. Arrange the following physical forms of catalogue according to their order of 

development  

(i) Register 

(ii) Sheaf 

(iii) OPAC 

(iv) Card 

Codes 

(A) (i) (iii) (iv) (ii)  

(B) (i) (ii) (iv) (iii)  

(C) (ii) (iv) (i) (iii)  

(D) (iv) (ii) (iii) (i)  

(i)  

(ii)  

(iii)  

(iv)

 : 

(A) (i) (iii) (iv) (ii)  

(B) (i) (ii) (iv) (iii)  

(C) (ii) (iv) (i) (iii)  

(D) (iv) (ii) (iii) (i) 

25. Arrange the following is chronological order of their origin   

(i) UNIX 

(ii) MS–DOS 

(iii) LINUX 

(iv) WINDOWS 

Codes 

(A) (iii) (i) (iv) (ii)  

(B) (ii) (i) (iii) (iv)  

(C) (i) (iii) (iv) (ii)  

(D) (iv) (i) (ii) (iii) 

(i)  

(ii)  

(iii)  

(iv)

 : 

(A) (iii) (i) (iv) (ii)  

(B) (ii) (i) (iii) (iv)  
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(C) (i) (iii) (iv) (ii)  

(D) (iv) (i) (ii) (iii) 

26. Arrange the following public library acts in chronological order of enactment   

(i) Karnataka Public Library Act 

(ii) Madras Public Library Act 

(iii) Andrapradesh Public Library Act 

(iv) Maharastra Public Library Act 

Codes 

(A) (ii) (iv) (iii) (i)  

(B) (i) (ii) (iv) (iii)  

(C) (ii) (i) (iv) (iii)  

(D) (ii) (iii) (i) (iv) 

(i)  

(ii)  

(iii)  

(iv)

:

(A) (ii) (iv) (iii) (i)  

(B) (i) (ii) (iv) (iii)  

(C) (ii) (i) (iv) (iii)  

(D) (ii) (iii) (i) (iv) 

27. Arrange the following classification  schemes according to year of first publication  

(i) DDC 

(ii) C.C 

(iii) UDC 

(iv) BC 

Codes 

(A) (i) (iv) (ii) (iii)  

(B) (ii) (i) (iii) (iv)  

(C) (iii) (ii) (iv) (i)  

(D) (iv) (iii) (ii) (i) 

(i)  

(ii)  

(iii)  

(iv)

: 

(A) (i) (iv) (ii) (iii)  

(B) (ii) (i) (iii) (iv)  

(C) (iii) (ii) (iv) (i)  

(D) (iv) (iii) (ii) (i) 

28. Arrange the following chronologically according to year of establishment  

(i) ILA 

(ii) IASLIC 

(iii) ALA 

(iv) ASLIB 
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Codes 

(A) (iii) (iv) (i) (ii)  

(B) (iv) (ii) (iii) (i)  

(C) (ii) (iii) (iv) (i)  

(D) (i) (iv) (ii) (iii) 

(i) ILA 

(ii) IASLIC 

(iii) ALA 

(iv) ASLIB

: 

(A) (iii) (iv) (i) (ii)  

(B) (iv) (ii) (iii) (i)  

(C) (ii) (iii) (iv) (i)  

(D) (i) (iv) (ii) (iii) 

29. Match the following : 

   List I    List II     

(a) Paperless society   (i) De sola price  

(b) Little science big science (ii) S.R Ranganathan  

(c) Putting knowledge to work (iii) F.W. Lancaster  

(d) Prologomena of library classification (iv) Paulin Autherton  

Codes : 

 (a) (b) (c) (d) 

(A) (iii) (i) (iv) (ii) 

(B) (iv) (ii) (iii) (i) 

(C) (ii) (iii) (i) (iv) 

(D) (iii) (iv) (ii) (i)  

  I II

    I     II     

(a)    (i)  

(b) (ii)  

(c)   (iii)  

(d)  (iv) 

 

 : 

 (a) (b) (c) (d) 

(A) (iii) (i) (iv) (ii) 

(B) (iv) (ii) (iii) (i) 

(C) (ii) (iii) (i) (iv) 

(D) (iii) (iv) (ii) (i) 

30. Match the following : 

   List I    List II     

(a) World of learning  (i) Union catalogue  

(b) Mesh   (ii) National Bibliography  

(c) NUCSSI   (iii) Thesaurus  

(d) INB   (iv) Directory  

Codes : 

 (a) (b) (c) (d) 

(A) (iii) (ii) (i) (iv) 
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(B) (ii) (i) (iv) (iii) 

(C) (iv) (ii) (iii) (i) 

(D) (iv) (iii) (i) (ii) 

 I II

    I     II     

(a)   (i)  

(b) (ii)  

(c)   (iii)  

(d)  (iv) 

 : 

 (a) (b) (c) (d) 

(A) (iii) (ii) (i) (iv) 

(B) (ii) (i) (iv) (iii) 

(C) (iv) (ii) (iii) (i) 

(D) (iv) (iii) (i) (ii) 

31. Match the following : 

   List I    List II     

(a) AACR I   (i) 1978 

(b) AACR II   (ii) 1967 

(c) ALA Code   (iii) 1934 

(d) C.C.C   (iv) 1945 

Codes : 

  (a) (b) (c) (d) 

(A) (iii) (ii) (i) (iv) 

(B) (i) (iv) (ii) (iii) 

(C) (ii) (i) (iv) (iii) 

(D) (iv) (ii) (iii) (i)  

 I II

    I     II     

(a)   (i)  

(b) (ii)  

(c)   (iii)  

(d)  (iv) 

 : 

  (a) (b) (c) (d) 

(A) (iii) (ii) (i) (iv) 

(B) (i) (iv) (ii) (iii) 

(C) (ii) (i) (iv) (iii) 

(D) (iv) (ii) (iii) (i) 

32. Match the following : 

   List I    List II     

(a) Fumigation    (i) Circulation section  

(b) Browne system    (ii) Maintenance section   

(c) Kardex   (iii) Reference section  

(d) Information desk    (iv) Periodical section  

Codes : 

   (a) (b) (c) (d) 

(A)   (i) (ii) (iii) (iv) 
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(B)   (iii) (iv) (i) (ii) 

(C)   (ii) (i) (iv) (iii) 

(D)   (iv) (iii) (ii) (i) 

 I II

    I     II     

(a)   (i)  

(b) (ii)  

(c)   (iii)  

(d)  (iv) 

 : 

   (a) (b) (c) (d) 

(A)   (i) (ii) (iii) (iv) 

(B)   (iii) (iv) (i) (ii) 

(C)   (ii) (i) (iv) (iii) 

(D)   (iv) (iii) (ii) (i) 

33. Match the following : 

   List I    List II     

(a) Mimeography   (i) Spirit duplication  

(b) Hectography   (ii) Stencil duplication  

(c) Lithography    (iii) Ammonia vapour process   

(d) Diazograph    (iv) Off–set – printing  

Codes : 

   (a) (b) (c) (d) 

(A)   (i) (ii) (iii) (iv) 

(B)   (ii) (iii) (iv) (i) 

(C)   (iv) (i) (ii) (iii) 

(D)   (ii) (i) (iv) (iii) 

 I II

    I     II     

(a)   (i)  

(b) (ii)  

(c)   (iii)  

(d)  (iv) 

 : 

   (a) (b) (c) (d) 

(A)   (i) (ii) (iii) (iv) 

(B)   (ii) (iii) (iv) (i) 

(C)   (iv) (i) (ii) (iii) 

(D)   (ii) (i) (iv) (iii) 

34. Match the following : 

   List I    List II     

(a) Current contents   (i) E-thesis 

(b) Shodhagange    (ii) National library of India Kolkatta 

(c) IEE    (iii) ISI philidelphia  

(d) INB    (iv) INSPEC 

Codes : 

  (a) (b) (c) (d) 

(A)  (ii) (i) (iii) (iv) 
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(B)  (iii) (i) (iv) (ii) 

(C)  (iii) (iv) (ii) (i)  

(D)    (i) (iv) (iii) (ii)  

 I II

    I     II     

(a)   (i)  

(b) (ii) 

 

(c)   (iii)  

(d)  (iv) 

 : 

  (a) (b) (c) (d) 

(A)  (ii) (i) (iii) (iv) 

(B)  (iii) (i) (iv) (ii) 

(C)  (iii) (iv) (ii) (i)  

(D)    (i) (iv) (iii) (ii) 

35. Match the following : 

   List I    List II     

(a) Chain indexing    (i) Derrick Austin 

(b) PRECIS   (ii) S.R Ranganathan  

(c) Uniterm indexing  (iii) Eugine Garbeld 

(d) Citation indexing   (iv) Martimer Taube  

Codes : 

  (a) (b) (c) (d) 

(A)  (ii) (iii) (i) (iv) 

(B)  (ii) (i) (iv) (iii) 

(C)  (iv) (ii) (iii) (i) 

(D)  (iii) (iv) (ii) (i) 

 I II

    I     II     

(a)   (i)  

(b) (ii)  

(c)   (iii)  

(d)  (iv) 

 : 

  (a) (b) (c) (d) 

(A)  (ii) (iii) (i) (iv) 

(B)  (ii) (i) (iv) (iii) 

(C)  (iv) (ii) (iii) (i) 

(D)  (iii) (iv) (ii) (i) 

36. Match the following : 

   List I    List II     

(a) FAX    (i) Translation service  

(b) Language barrier   (ii) Digest service 

(c) Initiation for freshman (iii) Document delivery service 

(d) Information repackaging (iv) Reference service 

Codes : 

   (a) (b) (c) (d) 
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(A)   (iii) (i) (iv) (ii) 

(B)   (iv) (ii) (i) (iii) 

(C)   (ii) (iv) (iii) (i) 

(D)   (i) (iii) (ii) (iv) 

 I II

    I     II     

(a)   (i)  

(b) (ii)  

(c)  (iii)  

(d)  (iv) 

 : 

   (a) (b) (c) (d) 

(A)   (iii) (i) (iv) (ii) 

(B)   (iv) (ii) (i) (iii) 

(C)   (ii) (iv) (iii) (i) 

(D)   (i) (iii) (ii) (iv) 

37. Match the following : 

   List I    List II     

(a) IFLS    (i) Nether land  

(b) IFLA    (ii) Vienna  

(c) NISCAIR   (iii) Hyderabad  

(d) SENDOC   (iv) New Delhi  

Codes : 

   (a) (b) (c) (d) 

(A)   (i) (iii) (ii) (iv) 

(B)   (iii) (ii) (iv) (i) 

(C)   (ii) (i) (iv) (iii) 

(D)   (iv) (iii) (i) (ii) 

 I II

    I     II     

(a)   (i)  

(b) (ii)  

(c)   (iii)  

(d)  (iv) 

 : 

   (a) (b) (c) (d) 

(A)   (i) (iii) (ii) (iv) 

(B)   (iii) (ii) (iv) (i) 

(C)   (ii) (i) (iv) (iii) 

(D)   (iv) (iii) (i) (ii) 

38. Match the following : 

   List I    List II     

(a) CDS–ISIS    (i) MIT/HP 

(b) SOUL    (ii) LIBSYS corporation 

(c) LIBSYS   (iii) UGC 

(d) DSPACE   (iv) UNESCO 

Codes : 

   (a) (b) (c) (d) 
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(A)   (ii) (i) (iv) (iii) 

(B)   (i) (ii) (iv) (iii) 

(C)   (iv) (iii) (ii) (i) 

(D)   (iii) (iv) (i) (ii) 

 I II

    I     II     

(a)   (i)  

(b) (ii)  

(c)   (iii)  

(d)  (iv) 

 : 

   (a) (b) (c) (d) 

(A)   (ii) (i) (iv) (iii) 

(B)   (i) (ii) (iv) (iii) 

(C)   (iv) (iii) (ii) (i) 

(D)   (iii) (iv) (i) (ii) 

39. Assertion (S) : Information society is the one where all citizen are educated.  

 Reason (R)  : Society of which more than 50% of population is involved in 

information activities. 

 Codes : 

(A) Both (S) and (R) are true and (R) is to correct explanations of (S) 

(B) Both (S) and (R) are true, but (R) is not the correct explanation of (S) 

(C) Both (S) and (R) are false  

(D) (S) is false, but  (R) is true 

 (S)  :  

 

  (R)  : 

 

  : 

(A) (S)  (R) (R) (S)  

(B) (S)  (R)  (R)  (S)  

(C) (S)  (R)  

(D) (S)  (R)  

40. Assertion (S) : Collection development must be done judiciously. 

 Reason (R)  : Demand is the only governing factor in book section. 

 Codes : 

(A) (S) is false  but (R) is true 

(B) Both (S)  and (R) are true, but (R) is not correct a explanation of (S) 

(C) Both (S) and (R) are true, but (R) is the correct explanation of (S) 

(D) (S) is true but (R) are false 

  (S)  :   

  (R)  :  

  : 

(A) (S)  (R)   

(B) (S)  (R)  (R)  (S)  

(C) (S)  (R) (R)  (S) 

(D) (S)  (R)  
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41. Assertion (S) : In survey research the commonly used techniques for gathering 

data are questionnaires interview and observations . 

 Reason (R)  : There are least effective for data collection about perceptions, belief, 

attributes etc of the respondents. 

 Codes : 

(A) Both (S) and (R) are false 

(B) (S) is false, but (R) is true 

(C) (S) is true but (R) is false 

(D) Both (S) and (R) are true 

  (S)  :  

 

  (R)  : 

 

  : 

(A) (S) (R)  

(B) (S) (R)  

(C) (S)  (R) 

(D) (S) (R)  

42. Assertion (S) : Computerization of public libraries in India is slow . 

 Reason (R)  : Non-availability of resources. 

 Codes : 

(A) Both (S) and (R) are false 

(B) Both (S) and (R) are true  

(C) (R) is true, but (S) is false 

(D) (S) is true but (R) are false 

  (S)  :   

  (R)  :  

  : 

(A) (S) (R)  

(B) (S) (R)  

(C) (R)  (S) 

(D) (S)  (R)  

43. Assertion (S) : System analysis identifiers the flow of work. 

 Reason (R)  : System analysis is not necessary if the library is to be autovalid.  

 Codes : 

(A) Both (S) and (R) are true 

(B) (R) is true, but (S) is false 

(C) Both (S) and (R) are false 

(D) (S) is true but (R) is false 

  (S)  :   

  (R)  : 

 

  : 

(A) (S) (R)  

(B) (R) (S)  

(C) (S) (R) 

(D) (S)  (R)  
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44. Assertion (S) : SDI is user centred current awareness service. 

 Reason (R)  : It is an alerting service directed towards particular group. 

 Codes : 

(A) Both (S) and (R) are false 

(B) (S) is true, but (R) is false 

(C) (S) is false  but (R) is true 

(D) Both (S) and (R) are true 

  (S)  :   

  (R)  :  

  : 

(A) (S) (R)  

(B) (S) (R)  

(C) (S) (R) 

(D) (S) (R)  

45. Assertion (S) : Library catalogue meets most of the approaches of users. 

 Reason (R)  : Catalogues include all the details of the documents . 

 Codes : 

(A) (S) is true but (R) is false 

(B) Both (S) and (R) are true 

(C) Both (S) and (R) are partially true  

(D) (S) is false, but (R) is true 

 (S)  :  

 

  (R)  : 

 

  : 

(A) (S) (R)  

(B) (S) (R)  

(C) (S) (R) 

(D) (S) (R)  

Read the passage given below and answer the questions based on your understanding 

of the passage 

Information is a resource whose generation consumer time and money and whose use 

conserves time and money. The industrial environment in India is making a quantum 

jump  in the field of technology absorption and innovation. New companies both in the 

public and private sector have been started in the past few years and most of the 

monopoly business is coming to an end. In other words, the industrial environment is 

becoming more and more competitive. Information is one of the major resource which 

will help the company win a competitive edge. Electronic industry is both an 

important and competitive industry. It has grown 514% from 1970, with an average 

growth of 15% per annum. There are more than 100 companies in India now 

manufacturing computers. The survival in this industry by a company largely 

depends on its openness to adopt new technologies introduce state of the cost 

products, new marketing strategies etc. For this purpose the company needs 

information on the technology, environment and competition. The types of information 

generally sought by a company include economic information, legal information on 

personnel relations, public relations, technology trends, market trends etc. 
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46. Industrial environment in India is making a quantum jump because:  

(A) Information is a resource whose generation consumes time  

(B) Information is a resource whose generation consumes money 

(C) Information is a resource that consumes money and time 

(D) Information absorption and innovation in the field of technology  

 

(A)  

(B)  

(C)  

(D)  

47. Monopoly in business is coming to an end because of 

(A) Information 

(B) Money flow 

(C) Competitiveness 

(D) Lack of Information  

(A)  

(B)  

(C)  

(D)   

48. Information is a major resource which:  

(A) Helps company to lose money  

(B) Helps company to achieve popularity 

(C) Helps company to have an edge in competition 

(D) Helps company to gain better manpower  

(A)  

(B)  

(C)  
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(D) 

49. Electronics industry is an important industry as it: 

(A) Is growing at the rate of fifteen percent 

(B) Is growing at the rate of five hundred percent 

(C) Is growing at the rate of fourteen percent 

(D) Is not growing at all 

 

(A)  

(B)  

(C)  

(D)   

50. The types of information usually sought by companies are:  

(A) Economic and legal information 

(B) Information on personnel relation 

(C) Information on technology and market trends 

(D) All the above 

(A)  

(B)  

(C)  

(D)  
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LIBRARY AND INFORMATION SCIENCE 

Paper – II Answer 

 

1 C 16 B 31 C 46 C 

2 B 17 D 32 C 47 A 

3 C 18 B 33 D 48 C 

4 A 19 C 34 B 49 A 

5 B 20 B 35 B 50 D 

6 D 21 D 36 A   

7 A 22 B 37 C   

8 A 23 B 38 C   

9 D 24 B 39 D   

10 A 25 B 40 C   

11 C 26 D 41 C   

12 B 27 A 42 A   

13 A 28 A 43 D   

14 B 29 A 44 C   

15 B 30 D 45 B   


